
1

2

3

4

5

6

7

8

10

11

9

12

13

14

15

PARTS INCLUDED

1

1

1

1

1

2/2

1/1

1/1

4

4/2

2/4/4

8/10

2/2/1/1

4/4/8

4/4/8

Φ17x8.4x1.2

M4x12

M6x16 M8x16

Φ15x5.3x1.2M4x16 M5x16

M4

M6 Φ14x6.5x1 S=6mm S=4mm

Plasma/LCD TV Stand Assembly Instruction

81.6kg(180lbs) max.

37" - 70"(94-178 cm) max.

Mount Pattern VESA : 600x600 

NO.                Description                Qty. NO.                Description                Qty.

M8x90 M6x16

1

2

3

4

5

6

7

8

10

11

9

12

13

14

15

2/2

1

2

4/4/2

1

1

1/1

12

1/1

2/2/2/2

8

2/2

4/8/4/4/
4/4/4

4/4/8

4/4/8

Φ17x8.4x1.2M6x16 M8x16

Φ15x5.3x1.2

Φ18x6.5x1.5

Φ15x5.3x1.2

Φ5

M4x16 M5x16

M5

M5

M6

S=6mm S=5mm

M8x90

M6x40

M5x12

M6x60

128kg(281.6lbs) max.

32" - 70"(81-178 cm) max.

   VESA :        800x500 

M5x12

NO.                Description                Qt NO.                Description                Qt

Plasma/LCD TV Stand Assembly Instruction

M12



1 2 3

5 6

7 9
X

TVTV

INSTALLATION

14/15

旋紧螺丝

13

7
7

1

2

10

10

1010

1

9

11 机箱孔对准
上面2个螺丝

12贴在机箱反面介
于立柱之间保护机
箱不受损伤

11

4

3

2

6

6

5

8

12

12

8

4

4

1 1

10

10

3

11

13

13
13

13

4
2

13

13

14/15

7

13

5

6

8

1212 12 12

M5

1 2 3

5 6

7 98

4

X

TVTV TV TV


